L arrondissement (A)

31

41

13

382

583

9,203

1,822

8,703

Arrondissez chaque nombre ci-dessous a la dizaine pres.

91 38

84 60

34 539
207 702
199 082
1,494 4,717
4,269 4,142
9,830 52,990

95

98

590

648

362

3,635

3,007

15,302
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L’arrondissement (A) Solutions

31
30

41
40

13
10

382
380

583
580

9,203
9,200

1,822
1,820

8,703
8,700

Arrondissez chaque nombre ci-dessous a la dizaine pres.

91 38

90 40

84 60

80 60

34 539
30 540
207 702
210 700
199 982
200 980
1,494 4,717
1,490 4,720
4,269 4,142
4,270 4,140
9,830 52,990
9,830 52,990

95
100

98
100

590
590

648
650

362
360

3,635
3,640

3,007
3,010

15,302
15.300

MathsLibres.com




